Exercise 6.48. [29r]Prerequisites: [20F], [29J], [06M], [OFR], [OFT].Difficulty:*
on 2022-11-24)

LetI C R, x, € R accumulation point of I, f : I — R function. As in
2901 F all the neighbourhoods of x, with associated the filtering ordering

UVvefdy ULV < UDV
Let
s,$i:F->R, s(U)= sup f(x), i(U)= inf f(x)
xeUnl xeunl

note that these are monotonic functions, and show that ¢

def
li = inf s(U) = lim s(U 6.49
lﬂiljpf(x) o fS( ) Ulg.l’}’s( ) (6.49)
liminf f(x) = sup i(U) = lim i(U) (6.50)
X—Xg UeF Uer

where the limits are defined in [orr].

Acf [6.39], [(6.40)].
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